ﬂé Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answers

Which choice has a4 with the value of 400 or 4 hundreds?
A. 428 B. 1,743 C. 6,742 D. 754 1
Which choice has a 8 with the value of 8,000 or 8 thousands? 2
A. 95,863 B. 827,436 C. 865,972 D. 78,594 5
Which choice has a 3 with the value of 30,000 or 3 ten thousands? 4
A. 31,682 B. 376,259 C. 483,762 D. 367,821

5.
Which choice has a 7 with the value of 70 or 7 tens?
A. 47 B. 735 C.79 D. 47 6.
Which choice has a4 with the value of 400 or 4 hundreds? [
A. 124 B. 4,839 C. 7,482 D. 4,623

8.
Which choice has a 1 with the value of 1,000 or 1 thousand? 9
A. 15,672 B. 82,517 C. 1,438 D. 48,612

10.
Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 76,132 B. 639,148 C. 79,138 D. 897,213 11.
Which choice has a 6 with the value of 60 or 6 tens? 2.
A. 86 B. 568 C. 6,451 D. 76
Which choice has a5 with the value of 500 or 5 hundreds?
A. 154 B. 1,563 C. 9,452 D. 3,785
Which choice has a 7 with the value of 7,000 or 7 thousands?
A. 98,672 B. 71,945 C. 6,579 D. 7,894
Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 825,614 B. 59,267 C. 431,598 D. 872,156
Which choice has a 8 with the value of 80 or 8 tens?
A. 812 B. 847 C. 869 D. 684
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ﬂé Examining Digit Place Value Name:

1)

2)

3)
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5)
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Answer Key

Solve each problem. Answers
Which choice has a4 with the value of 400 or 4 hundreds?
A. 428 B. 1,743 C. 6742 D. 754 LA
D
Which choice has a 8 with the value of 8,000 or 8 thousands? 2 =
A. 95,863 B. 827,436 C. 865,972 D. 78,594 5 A
Which choice has a 3 with the value of 30,000 or 3 ten thousands? 4 C
A. 31,682 B. 376,259 C. 483,762 D. 367,821
5. _C
Which choice has a 7 with the value of 70 or 7 tens?
A. 47 B. 735 C.79 D. 47 5. C
Which choice has a4 with the value of 400 or 4 hundreds? ! L
A. 124 B. 4,839 C.7,482 D. 4,623 B
8
Which choice has a 1 with the value of 1,000 or 1 thousand? 9 B
A. 15,672 B. 82,517 C. 1,438 D. 48,612
0. D
Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 76,132 B. 639,148 C. 79,138 D. 897,213 11 B
Which choice has a 6 with the value of 60 or 6 tens? 12 L
A. 86 B. 568 C. 6,451 D. 76
Which choice has a5 with the value of 500 or 5 hundreds?
A. 154 B. 1,563 C. 9,452 D. 3,785
Which choice has a 7 with the value of 7,000 or 7 thousands?
A. 98,672 B. 71,945 C. 6,579 D. 7,894
Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 825,614 B. 59,267 C. 431,598 D. 872,156
Which choice has a 8 with the value of 80 or 8 tens?
A.812 B. 847 C. 869 D. 684
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